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(1) wd ge arfoard wifger. (2) goprean SR THRISTD 07 AEN.
(S)WWWQTTSM%H (4) et yerereter ¢ wafamie! ava oty fraerar.

Q.1 «(A) axim0iteD Wximd, VOAD AGEDOND ...
(A )aﬁ“emr (B) fgra  (C) Wty (D) Allimd

Q.2 Greliel araniie ARy g sfiewEn

HHHBITT AT ABI! ITa] bell Bl

(A) s faemoer (B) =maras R (C) ardafie fagmo (D) axietet e

Q.3 gt " e savecor ) 2

(A) smo % Sl TS R HST UTg bl

(B) ¢0, TUE SRR ameren & ot Wi

(C) ARNTR Q1 a9 TS Sl aered UETd B

(D) sraTar Yex didveicar ST, Tt AR THEHAT T

Q.4 Select the correct active voice of the following sentence

"The king will be praised by the people”
(A) People praise the king. (B) The people will praise the king

(C) People will have to praise the king (D) People will be praised by the king

Q.5 Choose the alternative with correct spelling

(A) Devolopment (B) Devilopment (C) Develppmint (D) Development
Q.6 Choose the correct article from the following to fill in the blank

What ------------ unlucky woman she is !

(A)Ja  (B)an  (C)the (D) No article
Q.7 gy T HIget fhrugry ol drermael aArrar ?

(A) 365 ifl] (B) 4 fafre  (C) 24 Wi (D) 60 fufre




Q.8 0D (iM0Vlh») 36 Ut Rieer wrereR Biorarn feash siderd smer?

(A) » 1998 (B) 101999 (C)1702013 (D)1 sife 2014
Q.9 #ERIga dfd= |aid At T4l BIvr ?

(A) &0 (B) ==t (C) V0008 (D) =Ml b
Q.10 wRE=aT oA ORI arefadd 3 thgart 2002 Ui fFaR) el TR QAT o=
rore faaeft b AN 2
(A) AV (B) #rwar  (C) wear (D) gppaR
Q.11 x =y Sl Ay dear el
2, 6, 12, 20, 30, 42, ---------
(A)52 (B)S56 (C)64 (D) 73
Q.12 Remy Srft arg gafa fraer.
B4G: D161: AS5D: ?
(AAC8D (B C25F (C)D25M (D)A22C
Q.13 ydierte! Sreadiit AT SETERVT |l
(A) A, i i) (B) 99 e e oo
(C) T0E) ! fomcht a= gt (D) a1 w2omTel @f, #t gxal
Q.14 smuear disrare Frevm=an Jetea=i=r gélel Ud! By o ?
(A) aof  (B)ser (C) =it (D) {iEW
Q.15 "wRrEa" A1 SRS AR FATET wes e
(A) £0,  (B) 10,40 (C) sreoft (D) >0/ 00K
Q.16 Fill in the blanks with suitable form of verbs

| hope you ---------- the prize

(A) have (B) had won (C) win (D) will win
Q.17 He said to me, "Bring a glass of water". The correct transformation of the

sentences in the indirect speech is -------

(A) Bring me a glass of water, said he
(B) He ordered me to bring a glass of water
(C) He requested me to bring a glass of water
(D) None of these
Q.18 Choose the correct alternative to complete the sentence -

| don't believe you. | think you're ------------ lies.
(A) Speaking (B) telling (C) saying (D) talking



Q.19 1942 wreht HereAT TiESiieal AqaTel —eledl dodeord oG are Biurd 2

(A) "0 et @ % g st g (B) “Dleliil (C) v 1§

(D) wfaTa wrcH

" u wn N

Q.20 AiMjuidR raves @ "arfra a0 Al feseR <emeer @ el 2

(A) 1900 (B) 1904  (C) 1916 (D) 1942

Q.21 et Brevh BRI TE+R STReran wreragd <l ?

un WA

(A) »00> >»EAR  (B) @€ adte  (C) &€ - (D) <fe Ardede

Q.22 Ry SR vy w1 e .

36: 216 i ------- 729
(A) 81 (B) 125 (C)149 (D) 49

Q.23 (At - got 77 500 .. wEEETaR <) fheidier @ v > »iael R THuT febe
SISESINCI I
(A) 499 (B)500 (C)501 (D) 502

Q.24 Remn St Iva wreg forar.

EEIK I CEI | IR
(A) freitr - (B) @i (C) -meds (D) Tomarar i

Q.25 "ga-1" A1 wETEn fToawl vl sfiwl.
A) g B)gr=  (C) 3w (D) g

Q.26 'Y qxd arerel ' A1 areRITET YUl YAdIs Yeleiud! Plurar ?

(A) ‘I %7 araa g1 (B) W @ ar=e B
(C) #t gz araa o (D) +t g I o/

Q.27 arE =¥t Tl e AR B faelra dR1d drTel. a1 arerd siorer drep (0 1Y)

TE0 a>mn) TOE.

(A) 3iv1 =w=er (B) st et (C) i max gewr (D) sfmeR wreu.
Q.28 May God bless you !

The modal 'may" expresses a --------------
(A) choice (B) wish (C) purpose (D) permission
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Q.29 Choose the correct answer
‘Life goes on" - (Add a question tag)
(A) Life goes on, doesn't it ?  (B) Life goes on, didn't it ?
(C) Life goes on, don't it ? (D) Life goes on, isn't it ?
Q.30 She is -------- beautiful, but ------------ intelligent
Choose the correct alternative to fill in the gaps
(A) so, also (B) not only, also (C) very , also (D) only , also
Q.31 “VErres R Wi W@ fhd e ?
(A) 189 (B) 312 (C) 48 (D) 288

Q.32 "reficta! ®Ivl sgaHe UaRies Jeel AFard ?
(A) VO (B) D000 (C) e (D) et 18 K
Q.33 ST YT ISTde AR 1Y HS-=T DIUAT HAAIY ATdel] S ?

(A) 342 (B)352 (C)370 (D) 307

Q.34 R Sl Ay v o

11 : 1331 ' ------- : 5832
(A) 324 (B)356 (C)328 (D) 330
Q.35 (0.05) = ----me-m-
(A)0.025 (B)0.0025 (C) 25 (D) 2.005
Q.36 5°F = —moommmmm- oC

(A) 15°C (B)-15°C (C)05°C (D)-05°C

Q.37 1) Tiyr uresvare faera’ T woivan el exffavrRy vy frae
(A) ge1 & gu Ul SfiwwEdr Ad

(B) <8 g 0T AU FeAd A AT

(€

(D)
Q.38 'arrgegs’ AT veaTA fave s e faeiedr wIRATH g,

(A) srermaeas (B) sFmawae (C) sifvard (D) Tl Hlawaes

O\ [aY [aY C [aY N
Q.39 Remn St Wrelld yaRIKie Iy v Hae

T AU ST e I &I ASTIUUT=AT HATao dledl Adl

NI DIvTATe! ATl

ST fheare ------m--- el 00! OB —-mmmmo- PBIGOITAl ORBTY ISad Bl

(A) “le0d)_, £0>8 (B) feexfapr, war=ranr (C) £OWD,, £0>8 (D) wisiRarvan, de




Q.40 Combine the following sentences using a co-ordinator
He was poor. He was not greedy
(A)but  (B)and (C)as (D) while
Q.41 Filling the blank with appropriate preposition
We usually go there -------- Car.
(AJon  (B) of (C) with (D) by
Q.42 choose the correct plural form of "story"
(A)story's  (B) story (C) stories (D) storyes
Q.43 =l RIS Breidl dwean fddr ?
(A)206 (B) 512 (C) 103 (D) 32
Q.44 <99 ‘31" =T IHIET BIVIET TSR BT ?
(A)wsdt  (B) A®.5  (C) <rasrigawon (D) “0>oAl
Q.45 <Tcfiwrrar oy SIvlt araer ?
(A) 1" 2  (B) fawt e (C) wrem dw (D) TrlE-ier wrdi
Q.46 300 K = ----mmmmmmv °C
A)25°C (B)27°C (C)30° (D) 300°C

(A)Rre (B)@7>0 (C) wreras (D) Ti>Al

Q.48 R SRt vy =T Al
100 : 121 :: 400 : ------------

(A)399 (B) 421 (C)441 (D) 401
Q.49 ‘g \rev’ A1 ArpUERTET A B ?

(A) 7 wxor (B) w6 wxor (C) @mr wxor (D) =mor vt
Q.50 "t(-0l eesa Pt ----- " g gof o

(A)fe @ (B)gc @ (C) s @ (D) s @
Q.51 gdieitient Fggife wward Sarexvr forsl

(A) e (B) wamew (C) s (D) uferor
Q.52 Fill in the blank with the correct alternative

'she went to the movie with ------- two children’
(A)his ~ (B) him  (C) her (D) she



Q.53 'Geeta is taller than her sister’
In the above sentence the superlative degree of the underlined word is
(A)more tall  (B) tallest (C) most tall (D) tall
Q.54 What type of noun is the underlined word ?
Wisdom is better than strength.

(A) Common noun  (B) proper noun (C) collective noun (D) abstract noun

Q.55 Wl Yot graire! uies setel fSTegl HIvrr ?

(A) TAerr  (B) iR (C) #leerr (D) TR
Q.56 'wrerey faa' wIvrn feael |AeRT el Srar ?
(A)1 «bi  (B) 10 A,  (C) 15 «bi (D) 1 »>AH),
Q.57 il YT PIvren WERTA HERTSIAT Ied 1T Wl ATl ?
(Ngr  (B) gz (C) simare (D) T4
Q.58 (243,192,147, --,75) &1 e qurR eroarrst @bitet sromr fFre amrer i ?
(A) FEre aren 2 7 qon (B) Sed=ar aiter 3 7 Tom
(C)d=r=ar aerem 4 5 qom (D) artest AT
Q.59 Remmn SRl Ay waly fasT
3C:91: 5E -
(A)10J (B)19S (C) 25Y (D) 20T
Q.60 Ai)> 2 aroTaT TreTeEaTET fiFie Brer 7 9T BreT AreaTd Redt SeIET I Biset ?
(A)160° (B) 165° (C) 175° (D) 180°




